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A VERTICAL translation by c



A SIDEWAYS translation by b

y = log(x) ± c







y  = log( x + b )

Moves up +c, or down – c




Moves left + b, or right – b



Sketch   y = log(x) – 2





Sketch   y = log( x + 3 )

1)  y = Log3(x) + 2






2)  y =  Log4(x – 2) 


A vertical and horizontal shift can be combined

1)  y = Log2(x + 1) – 4






2)  y = Log2(x – 1) + 2


Vertical Reflection





Horizontal Reflection  


  y  = – log(x + b) ± c






y  =  log(–x + b) ± c
1)  y = – Log2(x ) – 2







2)  y =  Log2(–x ) + 1































Log translation





Log sketching Combined Shifts





Log sketching: Reflections









































































































































